© 00 ~N O O B W N =

N N N N N N N = e e ek ek ek ek ek ek e
D 01w N = O © 00 d OO D oW N = O

AL M F

EEE B R R ~EES N 149
T = Z|FH25FEEEEHR) EEHLUMMRRBEERISE
T = £ 5 m A EEEL L
T i ZtoA mnis TRk25410A25H FT
BIER L=148. 4m REBERIEE W=5. 8m
fiELT L=92. 8m
T ¥ # EH E%BI L=75 7m BISITHAESHET L=55 5m
Ek#T N=4%
#WEI A=130m
A . B B| Fm254sH2A FH 9 B 20 £
2 8N 5 —hEER S ¥ vi: TAR—=
T MK (Bl ik) 5,182,000 |5 15 ] BR fili # (B tk ) 4,460,000
%L &8 (Biik) 44600002 K & # 4,683,000
ue VDER
o " i mAm &7:*;;*17‘325;294%1&
(2 F 4 AL & # i & VA=Y
VA VAVY { 4,460,000
FREHTRARER 4,460,000
BRst R 4,460,000 @)
KIS IX-A(-U35Tk 4,460,000
BRE=HIIRTY/ 4,460,000
HBAEHHIRF 4,460,000| <LCIz&kVYRE
THEIKA=E 4,460,000
FEHRZER= 4,460,000
HBASHILEHFISE 4,460,000
KX AERT 4,460,000
M EFEILITE 4,460,000
KX=EEHEE 4,460,000
BRettEE 4,460,000
ARSMERTIE 4,460,000
=mEEKRAE 4,460,000
AR=#Hro—k 4,460,000
BIKIE 4,460,000
BREHHETYVY 4,460,000
AR=ttEITVY 4,460,000
KX XKESHE 4,310,000| %&#L4t+
ET#E 4,460,000
XEEEKRAH 4,460,000
BRI HEE 4,460,000
REBET 4,460,000
AREHEEIAX 4,460,000
AR PHESR 4,460,000

1/2




2
28
29
3
3
3
3
3
3
3
3
38

~J

~N O O S W N = O

T % 4| THoSHEREHR) EEHhNBRBEEEREIS
ARSHTIBETRE 4,460,000
IR 4,460,000
f—H T4t 4,460,000
ARSHAEEHKER 4,460,000
HREHHE 4,420,000| *4lst
HR&H =S iEH 4,460,000
ARSI T FEH 4,460,000
MRaKESE 4,460,000
MREHvYRITE 4,460,000
AR &HIL TR 4,460,000
M Ei 32 4,460,000

N = -
/XJEJE

4,460,000

2/2




